/FT BILLIARD TABLE

ASSEMBLY INSTRUCTIONS

ATTENTION:

Once assembled the billiard table,please do not move it.

If you have to move it,please take care of it.

IMPORTANT:

Please read through the instruction before assemble the
table.

PARTS IDENTIFIER

#1

#2

o

#3

9

#4

—

©

5/16" x 1-1/2"BOLT 5/16"WASHER LEG LEVELER 5/16" NUT
14PCS 16PCS 4PCS 2PCS
#5 #6 #7 #8
T4%32mm
ROUND HEAD SCREW 1/4"WASHER LEGS A LEGS B
20PCS 20PCS 2PCS 2PCS
#9 #10 #11 #12
\@
\
\/ 7 %
LEG END PANELS LEG END PANELS TOOL TOOL
2PCS 2PCS 1PC 1PCS
#13

yd

Stretch bar
2PC




ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED TO
ASSEMBLE THE POOL TABLE

WARNING: TWO ADULTS NEEDED TO
ASSEMBLE THE POOL TABLE

FIG 2




SFT BILLIARD TABLE

ASSEMBLY INSTRUCTIONS

ATTENTION:

Once assembled the billiard table,please do not move it.

If you have to move it,please take care of it.

IMPORTANT:

Please read through the instruction before assemble the
table.

PARTS IDENTIFIER

71

#2

o

#3

¥

#4

—

©

5/16" x 1-1/2"BOLT 5/16"WASHER LEG LEVELER 5/16" NUT
14PCS 16PCS 4PCS 2PCS
#H HO =y 8
T4%32mm
ROUND HEAD SCREW 1/4"WASHER LEGS A LEGS B
20PCS 20PCS 2PCS 2PCS
#9 #10 #11 ®12
\§
\
\/ 7 b
LEG END PANELS LEG END PANELS TOOL TOOL
2PCS 2PCS 1PC 1PCS
#13

yd

Stretch bar
2PC




ASSEMBLY INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED TO
ASSEMBLE THE POOL TABLE

WARNING: TWO ADULTS NEEDED TO
ASSEMBLE THE POOL TABLE




	DQ-P016 7FT拉码台球桌说明书 -1.pdf
	DQ-P016 7FT拉码台球桌说明书 -2
	DQ-P016 8FT拉码台球桌说明书 -1
	DQ-P016 8FT拉码台球桌说明书 -2



